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i) General Awareness

In which Session of the Indian National
Congress our National anthem Jana-
gana-mana was first sung ?

(A) Calcutta Session, 1911

(B) Madras Session, 1908
(C) Belgaum Session, 1924
(D) None of the above

Who was served as the first Lok Sabha
speaker of free India ?

(A) K.S. Hegde

(B) Sardar Hukam Singh

(C) Sumitra Mahajan

(D) G. V. Mavalankar

Iron Magic-19 a military exercise held
between which of the following countries ?
(A) USA and Japan

(B) India and Germany

(C) USA and UAE

(D) None of the above

Intemational day of non violence observed
every year on

(A) October 2

(B) October 23

(C) September 22

(D) None of the above

What is the minimum age to contest for
Lok Sabha election ?

(A) Not less than 30 years

(B) Not less than 18 years

(C) Not less than 25 years

(D) None of the above

6.

10.

“Nomadic Elephant” a joint military
exercise was held between which of the
following countries ?

(A) India and Vietnam

(B) India and Mangolia

(C) India and North Korea

(D) India and South Korea

Every year “Intemational Day of Yoga” is
observed on which of the following date ?
(A) June, 21

(B) May, 1¢

(C) June, 5™

(D) None of the above

The national calendar of India based on
which of the following calendar system ?
(A) Julian calendar system

(B) Saka Era calendar system

(C) Gregorian calendar system

(D) None of the above

Which of the following nations severely

affected by the tropical cyclone Idai ?

(A) Mozambigue, Zimbabwe and
Malawi

(B) Bangladesh and Sri Lanka

(C) Australia and New Zealand

(D) None of the above

Which of the following organization
releases the “Human Development
Index” report (HDI) every year ?

(A) UNDP

(B) UNESCO

(C) WHO

(D) FAO
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. AR TS S0 & SH-8 AfEy= §
TS T SH-IT0T-5 Tged| SR I 727 7
(A) e ArETH, 1911

(B) Wz 3fersE, 1908

(C) erTia ITfEEYE, 1924

(D) JFaH Y HE 7=

. 0T 9TA F Teet AT T T H
a7

(A) #.T9. 372

(B) TER gHA e

(C) ghEnwem

(D) ft. =Y. wEEet

. AR ARE-19, T 8- ena Freforfaa
Ha s gan?

(A) UHT ST

(B) swa i s

(C) Fuwu e

(D) 3FAH A HE Al

. AWy fda feam vdis 9 %w T
TR 7

(A) 2 T

(B) 23 IR

(C) 22 fgew

(D) 3% H AHE TEl

. a1 g1 % e InfteaT 2 =man
I FTE 7

(A) 3099 A FH T

(B) 189¥ & &x &l

(C) 2599 FH T

(D) SFIH A FE a1

6.

10.
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WHEE B T H‘gﬁﬂﬂw ST
FreafoRea# & s s @ gen ?
(A) 9Ra I FFam

(B) 9w I wferan

(C) A 3 Iw HIfEr

(D) sTRa 3R aferor e

s Ty “siais g feaw e faf
EARCICIE IR

(A) 215d

B) 1%

(C) 55

(D) JFaH B FE T

AR 1 e T=m Fafafea 7@ 8 e

(D) 3FAH A F1E T

Frefafas & @ F9-3 39 oy
T BT § TH T g1 U 7
(A) HTifere, fremsa o wwermsEt

(B) TNl 3T Sfieteht

(C) wiegferam 3 =Sficts

(D) JFAH A FE T

Frefefaa § @ - geun ome o
o Fedsh I ST T & 7

(A) UNDP

(B) UNESCO

(C) WHO

(D) FAO



12.

13.

14.

19

Cyclonic Storm Ockhi was a strong
tropical cyclone that devastated parts
of Sri Lanka and India. It was the
tropical cyclone of which of the following
sea/ocean ?

(A) Arabian Sea

(B) Bay of Bengal

(C) Pacific Ocean

(D) None of the above

“Satyameva Jayate” — Truth only
Triumphs written in which script ?

(A) Brahmi script

(B) Thai script

(C) Devanagari script

(D) None of the above

Which of the following rivers is not a
tributary of Brahmaputra ?

(A) Subansiri (B) Pagladiya

(C) Dhansiri (D) Gandak

Nobel award-2018 in physics, awarded
to the scientists for their contribution in
the field of

(A) Acoustics

(B) Nuclear physics

(C) Laser physics

(D) Astrophysics

Which of the following statement/s

is/are true about National Green Tribunal

(NGT) ?

(A) NGT setupin2010 underthe NGT
Act

(B) Itis a specialized body equipped
with the necessary expertise to
handle environmental disputes

(C) Both the options (A) and (B) are
correct

(D) None of the above

16.

17.

18.

19.

20.
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Which of the following convention aims
to conserve the migratory species of
wild animals ?

(A) Ramsar convention

(B) Bonn convention

(C) UNFCC

(D) None of the above

Westem Ghat and Eastern Ghat meets
in which of the following hills ?

(A) Cardamom hills

(B) Palani hills

(C) Nilgiri hills

(D) None of the above

Which of the following ministry have

launched O-SMART Scheme ?

(A) Ministry of Skill Development and
Entrepreneurship

(B) Ministry of Earth Science

(C) Ministry of Tribal Affairs

(D) None of the above

The headquarters of SAARC is located at
(A) New Delhi,-India

(B) Kathmandu, Nepal

(C) Kabul, Afghanistan

(D) Dhaka, Bangladesh

How many railway zones are there in
India ?

(A) 12

(B) 17

(C) 15

(D) None of the above
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13.

14.

15.

. ST EH STl U wigaeTet

IR HeraTa o7 o s 3t
aa & ot 7eme b | 7= o wgg/
HETHTT T S 1d 9T 7

(A) & TFR

(B) =Tt 1 @it

(C) T HETEPR

(D) IFaH AHE TR

“Feaie S - 6 e 2t R, B
forfa o forar? 7

(A) STl forfa

(B) o fafa

(C) Earrt fofy

(D) 3FH AFE &I

frafafea § & FR-dt < saE A
HESE T TE R 7

(A) gerferd ,
(C) wfd (D) TEF

Wifaehl 1 e TEFR-2018 31!
$ o &3 H I INTEH o fed
T |

(A) =t

(B) wfief sfifaeh

(C) S| siifeaht

(D) @ sitfaeht

T gfta mferRn (NGT) F R Feferfaa

T FH-TTFHATAR 7

(A) 2010 H Ut &1 T9T9AT TASATEL
tferfm & siaia g8

(B) T UF Wiy Fael 1 g9
oq AEvas fasregar aren faendiga
3T 9 e R

(©) (A) 3 (B) THT ut &

(D) 3% H | T

(B) wertgan

16.

17.

18.

19

20.
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Frafafaa 3 8 FR-dt s St A
ST ST TR0 g Uk S 1 Iy & ¢
(A) THER H<3H

(B) &H F=vH

(C) UNFCC

(D) 3FaH A HE T

ufeendt e o goff ure fefafea 4 |
frg g # fea @ 7

(A) HTEny Fi wEIiEat

(B) A weTfEAt

(C) Hrafit £ wefeat

(D) JFqH UER Al

Fafafgs # & g 93e@ 3 O-SMART
AT AT IR 7

(A) Hed T 3R Sl e
(B) ™ w3

(C) SHSTf "I T

(D) SFH A FE TRl

T F G §feme |
(A) 7 fecedt, ama

(B) F1HTg, AT

(C) e, ITFHTHETH

(D) BWHI, SFATEI

TRA | e Io8 SF R 7
(A) 12

(B) 17

(C) 15

(D) 3Fa T UHTE AR!
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i) General Intelligence and Reasoning Ability

21. Fact 1: All hats have brims. 24. Ais B’s sister. Cis B's mother. Dis C's
Fact 2 : There are black hats and blue father. E is D's mother. Then how is A
hats.

relatedto D ?

Fact 3 : Baseball caps are hats. :
(A) Grandmother

If the first three statements are facts,

which of the following statements must (B) Grandfather
also be a fact ? (C) Daughter

I. All caps have brims

Il. Some baseball caps are blue (D) Granddaughter

lll. Baseball caps have no brims
25. Find the missing number.

(A) lonly

(B) Il only 527,916, 25,41, ?
(C) I, ltand Il (A) 65

(D) None (B) 66

: (C) 67
22. During the past year, Josh saw more
movies than Stephen. (D) 68

Stephen saw fewer movies than Darren.
Darren saw more movies than Josh.

If the first two statements are true, the
third statement is

For questions 26 and 27 refer to the data
below :

A+Bmeans Ax B

(A) True A+Bmeans A-B
(B) False | AxBmeans A + B
Eg; ggﬁg“a'” A-Bmeans A + B

26. Find the value of 28 =4 x 3 = 10.
23. Here are some words translated from

(A) 1
an artificial language (B) 0
granamelke means big tree (C) 2
pinimelke means little tree (D) 3

melkehoon means tree house ;
Which word could mean ‘big house’ ? | 27- Findthevalueof5x5+1x5+2x5+38.

(A) granahoon (A) 15
(B) pinishur (B) 20
(C) pinihoon (C) 25
(D) melkegrana (D) 35

-6-



21.

22.

23.
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ii) AT FlgET AT ATfehe ArEAT

qeg 1 aft e iR 2 |
q2g 2 : Freft N A 2E® |
921 3 : AFaEta AfETRe 2 |
Ife Tea ofH e e 2, O Fefoiaa |
U F-T1 4 9 Uk 92 T 91T ?
I gt Afe R R
Il. FB sEETe vt et € |
. SEete i R @ 2

(A) | Faa
(B) Ilshaa
(C) I, 13T 1l
(D) F% T

forset a9t & SRW, ST 3 T @1t
forew o |

T 3 S | 5 e 3t |

B ST @ el i o |

If2 e A FE EA B, M AETFI 2
(A) &3

(B) 3

(C) ffwma

(D) % &

REASEELR L E SR
e fag M g

granamelke &7 37 2 big tree
pinimelke %1 314 2 little tree
melkehoon T 31 ® tree house

form w15¢ &1 319 ‘big house’ BFIT 2
(A) granahoon

(B) pinishur

(C) pinihoon

(D) melkegrana

| 25.

24.

26.

27.

A BfITERIC,BRAIRIDCH
g | E, DFINTR |ATA, D& Fa 7R
et ?

(A) =TT

(B) <rer

(C) =@

(D)

e T 1

5,279 16, 25,41, 2

(A) 65

(B) 66

(C) 67

(D) 68

T T 26 31K 27 F for i i v
A+BHFIIEMZAX B
A+B FT3M2A-B
AxB FT32A+B
A-B #FTai2 A+B

28 — 4 x 3 + 10 FHTHH FTd L |
(A) 1
(B) 0
(C) 2
(D) 3

5x5+1x5+2x5+3F TH FHH |
(A) 15
(B) 20
©) 25
D) 35
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28.

29.

30.

The total cost curve of the number of
copies of a particular photograph is
linear. The total cost of 5 and 8 copies
of a photograph are ¥ 80 and ¥ 116
respectively. The total cost for 10 copies
of the photograph will be

(A) 100

(B) T 120

(C) 2110

(D) % 140

A, B, C, D, E and F belong to a family
that has two married couples. No one
from the third generation is married.
C is F's mother-in-law. D, E and B are
A’s teenaged older sister, father and
grandfather respectively. Who is D’s
father ?

(A) A

(B) B

(C) C

(D) E

RATES : ENGRF : : DWELT :
(A) PRSTA
(B) RYJYM
(C) QJRYG
(D) RJIMKN

31.

32.
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S friends P, Q, R, S and T are sitting in
a row facing North. Here, S is between
Tand Q, Qs to the immediate left of R.
P is to the immediate left of T. Who is
in the middle ?

(A) S

B) T

©) Q

(D) R

Find the wrong terms of the series
9, 29, 65, 126, 217, 344.

(A) 65

(B) 126

(C) 9

(D) 29

Direction for Q. No. 33 and 34 :

5 cars are owned by 5 diiierent men and each
of them play one of five different games.
Cars — Brown, Orange, Red, Green, Yellow
Men —-C,D,E, F,H

Game — Basketball, Volleyball, Cricket, Table

|t
2.

33.

tennis and Football
D likes to play Basketball
The one with the Green car plays
Football
D has a Red car and H does not like
Volleyball
E plays Cricket and has Orange car

_F plays Table tennis and does not

have a Brown or Red car

Who plays Volleyball ?
(A) C
(B) D
(C) H
(D) F



28.

29.

30.

o o e i sfaffiE 6 @en
F1 F Fd F1 9% REF T | TF FRATH
1 5 3 8 Wiafaryat &1 & v
FHI: T 80 M X 116 & | W
10 wferferfirt <t gt wtema et

(A) %100

(B) T 120

(C) 2110

(D) T 140

A, B, C, D, E 3R Fus ufan & 2 foms a1
e e ¥ | Fet b § = faafea
T2 IC,F FTHEE ID,EINBAH
ToreTr o€t =g, foar otk g e 2
D& A 7

(A) A

(B) B

(C) C

(O) E

RATES : ENGRF : : DWELT :
(A) PRSTA
(B) RYJYM
(C) QJRYG
(D) RJMKN

31.

32.

1.
2. T HW I FeEl WAl 8
3. DF TH U A FE 2 3 HF

33.
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5T P, Q R, S 3 T 3w & 3R 4
FERUHEIFIASSE | TS, TIMQH
faiR IQRFFEAMR P, THFA
IR | FAAE AR 7

(A) S

B T

(C) Q

(D) R

FEdT ¥ TAd 98 gAY |
9, 29, 65, 126, 217, 344
(A) 65

(B) 126

) 9

(D) 29

9 TEAT 33 3N 34 F fore A

5 %R % @l 5 o =afaa & 3R 395 9=l uie
- daaad # |
?ﬁ—)i{ﬂﬂﬁ'ﬁmgﬁ,tﬁ?’ﬁ

=gfFaat — C, D, E, F, H

T — Fieheaia, aicard, rwe, 9w 2|

IR FeaTa
D ! Fihed el Wa 98e 3

IS THE Al 2

E ke Wemar ® o 3o gall IR
F 3oTel 8 @erar @ 3T 38& T a5
T IR TR
el SH @A 2 ?

(A) C

(B) D

(C) H

(D) F



35.

36.

37.

Who has got Green car ?
(A) H

(B) D

(C) C

(D) F

RAIN : DRIZZLE

(A) SWIM : DIVE

(B) HOP : SHUFFLE
(C) JUGGLE : BOUNCE
(D) RUN : JOG

The wages of 8 men and 6 boys
amounts to X 33. If 4 men eam ¥ 4.50
more than 5 boys. Determine the wages

of each man and boy.
(A) 15,3
(B) ¥3,¥1.5
(C) X25,%2
(D) X2,X25

If PAINT is coded as 74128 and EXCEL
is coded as 93596, then how would you

encode ANCIENT ?
(A) 2451928
(B) 4251928
(C) 4251982
(D) 4261892

38.

40.
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A man starts from his house and walks
eastwards for 10 mts. He then takes a
left and walks 10 mts and again turns
left and walks 10 mts. Here, he takes a
right and walks 5 mts. In which direction
is he walking ?

(A) North

(B) South

(C) East

(D) West

Find odd man out, 3, 5, 7, 15, 17, 19.
(A) 15
B) .17
(€) 19

(D) 7

If RED is coded as 6720 then GREEN
would be coded as

(A) 9207716

(B) 167129

(C) 1677209

(D) 1672091



34.

35.

36.

37.

41-

& R fFgs qm R 7
(A) H
(B) D
€ C
(D) F

I : et

(A) T : BATT

(B) 3TEHI: HT

(C) BIH AT : Ef HHEAT
(D) e : efft S

8 el 3 6 TTH! I 7ot F FA
TR % 332 | AT 4 et 5 wrew &
% 4.50 SITET FHTG B 1 Tl e 3N
T 1 WG 19 H |

(A) 215,33

(B) 3,315

(C) T25,%2

(D) T2,325

afe PAINT &1 g2 74128 3t EXCEL
F1%< 93596 7, A1 ANCIENT 152 #1
ZTT 2

(A) 2451928
(B) 4251928
(C) 4251982
(D) 4261892
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38. UF AfFd AT BT B FAT IIRY FT

39.

40.

I g 1 3R 10 Wi swar | e s
Tear s 3R 10 Hiew =eran @ R i an

e 10 HiX Ia1 @ | 9 I gEa
5HIA SeraTe | =% fha i =m wid 7

(A) FT
(B) aféqor

©) ®
(D) dfF=m

g RrEgiT 3, 5, 7, 15, 17, 19
(A) 15
(B) 17
(©) 19

(D) 7

Ife RED %1 %< 6720 © 71 GREEN &1
B

(A) 9207716

(B) 167129

(C) 1677209

(D) 1672091
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41.

42.

43.

-12-

MKG-XVII/TECHCIMGAT/02

iif) Arithmetical and Numerical Ability

The 13" term of an A.P., in which the
6" term is =2 and the 9" term is -5 is
(A) 8 (B) 9

(C) -9 (D) -8

If the sum and product of zeroes of a
polynomial are —3 and 2 respectively,
then the quadratic polynomial is

(A) ¥*=-3x+2

(B) x*=3x-2

(C) x¥*+3x+2

(D) none of these

A quadratic equation whose roots are

3 1
——and -— is
53" 15

(A) x*+35x+3=0
(B) 50x*+35x+3=0
(C) 50x*-=3=0

(D) 10x*+35x+3=0

Va]ue of _2tan—30. =

1+tan’30°
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°
5 5 1 _2 6 3 N
x-1 y-2 x-1 y-2
then (x, y) =
(A) (4,5)
(B) (5 4)

o [a)

(D) (-4.95)

If 1

46.

47.

48.

49.

The angle of elevation of the top of a
tower from a point on the ground which
is 30 m away from the foot of the tower,
is 307, then the height of the tower is

(A) 30m (B) 10¥3m
10
(C) 3043m (D) E’"

Sum of the areas of two squares is
468 m?. If the difference of their
perimeters is 24 m, the sides of two
squares are (in metres)

(A) 23,12 (B) 18,12

(C) 16, 18 (D) 14,16

By selling a pen at Rs. 250, the profit
made is Rs. 50, then the cost price of
the pen is

(A) Rs. 300

(B) Rs. 225

(C) Rs. 200

(D) None of these

Some students planned a picnic. The
budget for food was Rs. 500, but 5 of
them failed to go and the cost of food
for each member increased by Rs. 5,
then the number of students who went

to picnic is
(A) 20 (B) 25
(C) 30 (D) 15

If the sum of 3 consecutive numbers is
183, then the numbers are

(A) 59, 60, 61
(B) 60, 61, 62
(C) 60, 62, 64
(D) 58, 60, 62



41.

42.

43.

44.

45, e

13-

MKG-XVIIVTECHCIMGAT/02

iii) TR U AT qaaT

e THTe Avfi 7 13 9 s T Er Rga
63T g -2 AN 9afue-52 7

(A) 8 (B) 9 .

(C) -9 (D) -8

4fe U S % ST HT AN SR IUHEA
A -3 3 2 2, 1 A sy R
(A) ¥*=3x+2

(B) x2—3x—-2

(C) x*+3x+2

(D) ¥ WK T

@ﬁqmmmﬁi@m@m
SIS

(A) x2+35x+3:0

(B) 50x*+35x+3=0

(C) 50x*~3=0

(D) 10x®+35x+3=0

2tan30°
1+tan° 30’

(A) sin 60°
(C) tan 60°

FHE B

(B) cos 60°
(D) sin 30°

5+1=263

"x=1 y-2

(A) (4.5)

11
© (43)

(B) (5 4)

(D) (4.5)

46.

47.

48.

49.

50.

THIG o SR H 30 Hi g ol W wk g
%wm%ﬁ&mwaﬁwsm%

A FISIE 2
(B) 104/3 #i

(A) 30+
10
© %"

(C) 3043 =i

Tl o W% T A0 468 Hi2 R | Afe
I TRETYT T 37T 24 H B, 1t 6
e & (1. #)
(A) 23,12
(C) 16,18

(B) 18,12
(D) 14,16

T U4 %1 F. 250 W= T A %, 502,
@ FTFI A B

(A) %300
(B) %.225
(C) % 200

(D) 39 AFE &

Wﬁ@ﬁmﬁaﬁmml
% fore sre ®. 500 o1 Wy 3 @
5 70 & ST Uedish Wl & forw i &t
T %. 59 T a1 T W e e
ferameffma ?
(A) 20

(C) 30

B) 25
(D) 15

gfe 3 wWF Tl &1 4 183 B, a1
(A) 59, 60, 61
(B) 60,61, 62
(C) 60, 62, 64
(D) 58, 60, 62



51.

55.
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A line intersecting a circle in two points
is called a

(A) tangent

(B) radius

(C) secant

(D) none of these

A metallic sphere of radius 4.2 cm is
melted and recast into the shape of a
cylinder of radius 6 cm. The height of
cylinder thus formed is

3438
A 125

(B) 2cm
(C) 3cm

(D) 175

17

The radii of two circles are 19 cm and
9 cm respectively. The radius of the
circle which has the circumference
equal to the sum of the circumferences
of the two given circles is

(A) 21cm (B) 10cm

(C) 28cm (D) 27 cm

If the average age of A and B is
18 years, that of B and C is 17 years
and that of C and A is 20 years, then
the age of A is
(A) 20 years
(B) 18 years
(C) 19 years
(D) 21 years

Among /2, g,om, —8, one which is not
a rational number is
3
(A) V2 ®) 3
(C) 0.01 (D) -8

56.

57.

58.

59.

60.
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A man had to walk a certain distance.
He walked half the distance at a speed
of 6 knvhr and the remaining half at a
speed of 5 km/hr. If the total time taken
was 11 hours, the distance he walked
was

(A) 50 km
(C) 60 km

(B) 75 km
(D) 70 km

The length of the minute hand of a clock
is 14 cm, then the area swept by the
minute hand in 5 minutes is

154 »
Ry ==
(A) 5 Cm

(B) 51 cm?
(C) 35cm?

157 2
m cal,
(D) —5-cm

The product of two numbers is 19200
and their HCF is 40, then their LCM is
(A) 48 (B) 480
(C) 240 (D) 120

In a mixture of 35 litres of milk, the
ratio of pure milk and water is 4 : 1. If
another 7 litres of water is mixed to the
mixture, the ratio of milk and water in

the resulting mixture becomes
(A) 2:3 (B) 3:2
(C) 1:2 (D) 2:1

If the interest on Rs. 800 be more than
the interest on Rs. 400 by Rs. 40 in
2 years, then the rate of simple interest
per annum (in %) is

(A) 5% (B) 6%

(C) 55% (D) 4%



51.

52.

53.

54.

55.
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T g9 1 91 Togall W wfoese & aweft
WHR__ FwEde |

T 4.2 At et ve a6 T = e
TR 3R 3 U 6 T BisuT I v Se
H BRI | 39 WHR o o 1 ST ©

343
®): T35 %0

(B) 2uH
(C) 3Tt

175

(D) —— ¥

31 gl o1 B wae: 19 S it 9 Tt
? 1 38 gu o P s gt St afm

fow o 3= % uftame & I HEER 7
(A) 21T (B) 109

(C) 28T (D) 27 &t

I A 23 B &t 3t o1g 1899 , B3R C
#1799 3t c M AF 209, ST A
HAGFATE ?

(A) 2099

(B) 189%

(C) 1934

(D) 2194

¥, %,0.01,—8,ﬂﬁ63@6ﬁtr&ﬁ?1
e T 2

3
(A) V2 ® 5

(C) 0.01 (D) -8

56.

57.

58.

59.

60.
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T AT B FS U T FE 2 | T8 oTeft
T 6 Tt /foer it f & 7 Far @ o
et gl 5 Tl /g fifa @ a war |
afe o foran T T 11 52 ?, IES
T a@ FHIE g o
(A) 50 et

(C) 60

(B) 75 bt
(D) 70 Frft

F g I e ATl S ) e 14 3
? | fome ol & gm0 5 fime # o T
A 2

w124
(B) 51T
(C) 353p

157
(D) —5- @t
31 HEATAT T IUEEA 19200 & 3 799
40, A1 HT U9 2
(A) 48 (B) 480
(C) 240 (D) 120
3 35T MA0TH Y8 24 s
IR 4 1 18 | afe 37 7 e S s
¥ Thermar st 8, a1 gt e gy
3TN STt T AFI T S
(A) 2:3 (B) 3:2
(€)i1:2 (D) 2:1

gfe 2 gui § 3. 800 W AT A
%, 400 AT S99 T, 40 AREF R,

A TR s F i gy W
(A) 5% (B) 6%
(C) 5.5% (D) 4%



61.

62.

63.

64.

65.

66.
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iv) Hindi Language and Comprehension
=i amw s Ay

HTFH THITA Y, | 39 I H SHI S GHT
A2 |

(A) HAffrea TEmEET

B) Fifem damEs

(C) HYSHEsI

(D) TRETIETEE

FTOT YT5q ST T 31 2 7

(A) FI FH ATF

(B) deER

(C) FI HHIATAT

(D) IR

:[E[+ET:

(A) &l (B) g1
(C) e (D) el
e feamr 30 gt &t o §
(A) TR faerm

(B) I AT

(C) STFT Wehe HEAT

(D) ¥FTe 3MT

TIE 3768 %1 Sga=H ¥
(A) Tegmear (B) fergmmd
(C) fagsem (D) fergwe
TS V158 %1 37 2

(A) T st gg ~E B
(B) STEIhT & AH J&I
(C) TE I &

(D) & A EAATA () TH

67.

68.

69.

70.

71.

] F o Fe wlie | T
TS v FRmEE R 7

(A) T9EH

(B) TUEH

(C) =

(D)

Fafew 9 w1 avifaw=e fefau |

(A) T+3+8+7+3+71
(B) A+3+B+A+T+q+ A
(C) +3+B+T+A+q+ A

(D) +3+8+3++3+7

Foreh o, 3o 39 | e I udTm
(A) TRt

(B) =l

() =

(D) 1§ e

T W T VeSO Teg o 31 TR R 7
(A) sf=T

(B) TEt

(QREEIE

(D) fafar

Pt =il % Bt & ea PR Hif |

F+A+TM+G+ A =
(A) Fid
(B) FATd
(C) ¥l
(D) e



72.

73.

74.

75.

a1 7.

faew F_T_ oo |
(A) &5

(B) FHuma

(C) dcged

(D) wgsfife

T A1 At TR § o 78 e, gnfe
ZIEE) FEAE |

(A) aui

(B) 5% (T2)

(C) I=a

(D) foran

Fef' v/e8 FI TEaEE A7 2
(A) Tt

(B) wfeem

(C) wferam

(D) ¥ & =% T

Sirea forfa :
et g
) @EH W S F) it gm
G HEE W) TLEEA
3) &t e M) R g
3) AT FHeAT H) U E AN
FI FET
J) TAF A7) g s
F g E 3
AT T 9% T
B F ¥ @T T
C® T 1% 9
DT & 9@ T

76.

77.

78.

79.

80.
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E§:+Tﬂ'§=

(A) =gEae

(B) dq™E

(C) wguis

(D) TG

SigeR ferfam

W) FeHE  F) TG T

I A-JW @) FHATE T

3) T ) IEE Tuw

3) T ) 53 99

3) foes %) sEsie TwE
F g eI

A F 9 @T T

B8 T 1TF 9

© 1T ® 9@T

D)F ¥ 1@ F

AT 3 YIe2 1 F=for w9 forfau |

(A) =i

B) =d

(C) <&rt

(D) <&t

g + 3 = ol | Z= g e |

(A) I (B) T

(C) a7 (D)

Tl S= 1 @ fEwd @ | 98 9
IR |

(A) FHar=g

(B) war=a

(C) wEaT=A

(D) ®FR &l
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81.

82.

Choos

83.

MKG-XVIIITECHCIMGAT/02

v) English Language and Comprehension
ST T iR S

Choose the sentence which is grammatically

(A) The scenery of Kerala is very
beautiful

(B) The guests left their luggage in the
hotel

(C) The cattles are grazing in the
field

(D) This is a two year old boy

(A) Some ill people refuse to take
medicine

(B) | answered her as casually as
possible

(C) lwillbe ready to leave by 5 o’ clock

(D) Which was a better story of the
two ?

e suitable linker to fill in the blanks.

She behaves she were a
queen.

(A) if

(B) asif

(C) though

(D) but

He worked hard,
get a rank.

(A) still

(B) yet

(C) so

(D) for

he couldnot

Choose the correct passive form for the
following sentence.

85. “Someone pulled the bell”.
(A) The bell pulled by someone
(B) The bell was pulled by someone
(C) The bell has pulled by someone
(D) The bell has been pulled by

someone
86. ‘Your books have given me wisdon'.

(A) Wisdom has been given by your
books

(B) Wisdom have been given by your
books

(C) Wisdom was-given by your books

(D) Wisdom had been given by your
books

Fill in the blanks with appropriate article.

87. Ganga is a holy river.
(A) A
(B) The
(C) An
(D) Not needed

88. Mount Everest is the highest
peak in the world.
(A) The
(B) A
(C) An
(D) Not needed




Find the word that is most nearly the same in
meaning as the words in capitals.

89. INNATE
(A) Natural
(B) Extraneous

(C) Adventitious

(D) Extrinsic

90. VICIOUS
(A) Light (B) Moderate
(C) Furious (D) Soft

Use suitable question tag.

91. She sings songs, ?
(A) isshe (B) isn't she
(C) does she (D) doesn’t she
92. Apama came here last Sunday, ?
(A) was she

(B) wasn’t she
(C) didn’t she
(D) doesn't she

Pick out the word that is nearly opposite in
meaning to the words in capitals.

93. BURY
(A) Conceal
(B) Embed
(C) Digin
(D) Exhume

94. SANGUINE
(A) Optimistic
(B) Genuine
(C) Pessimistic
(D) Altruistic

MKG-XVIIVTECHCIMGAT/02

Fill in the blanks with suitable preposition.

| 95. | have not met him

yesterday.
(A) from (B) since
(C) for (D) in
96. Do not expect any help from them
June.
(A) at
(B) to

(C) till
(D) none of the above

Identify the underlined words in the following
sentences.

97. It was the ghastly apparition of an old
man.

(A) adverb

(B) pronoun

(C) adjective

(D) preposition

98. The directors ruined themselves.
(A) pronoun
(B) adjective
(C) conjunction
(D) noun

99. He signed the letter.
(A) noun (B) pronoun
(C) verb (D) adverb

100. This is the desk which he invariably
wrote at.

(A) verb

(B) helping verb

(C) linker

(D) preposition
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SECTION -B
Post Specific Subject - Reiate_d Questions

101. Which Section of the Factory Act deals

with cleanliness ?
(A) Section 11
(B) Section 18
(C) Section 21

(D) Section 23

102. Which one is a workshop safety ?

(A) Stop the machine before changing
the speed

(B) Keep shop floor clean and fice
from grease oil or other slippery
materials

(C) Don't use cracked or chipped
tools

(D) Don't try to stop a running machine
with hand

103. What does Hot lines mean ?

(A) Below 440 volts
(B) 440 volts over

(C) 240 to 440 volts

(D) None of the above

104.

1.

2. Heating to below the b.

3. Heating beyond o

4. Martensite is d.

5. Heating beyondthe e.

6. Oxyacetyline flame is f.

Match the parts A and B regarding
various heat treatment processes :

A B
Heating to beyond a. Stress
critical temperature, relieving
maintaining this
temperature for a
definite period to
allow complete
transformation into
austenite and then
cool slowly in the
furnace
Spheroidising
critical temperature
and then cooling
in fumace
Nitriding
critical temperature
and cooling in
still air
Full
reheated to just annealing
below the lower
critical temperature
Flame
critical temperature hardening
in a sealed container
filled with ammonia
Normalizing
moved over the
specimen followed
by a quenching spray

(A) 1-a, 2-b, 3-c, 4-d, 5-e, 6-f
(B) 1-f, 2-e, 3-d, 4-c, 5-b, 6-a
(C) 1-d, 2-a, 3-f, 4-b, 5-c, 6-e
(D) 1-b, 2-¢, 3-a, 4-d, 5-, 6-c
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T -9

e Tafiithes g -dash wew

101. @M sTferfEm FHm-a1 s awE
foefiar ?

(A) =33 11
(B) =83 18
(C) = 21
(D) =37 23

102. FF-H U HrEiwe g e 2
(A) TIfd I B 9B Wi 9 FHE

(B) et & et =1 A ud | a1 3
T 1o TaTet & o W@

(C) =2 U AT SR 3T JHT 7
FAT

(D) St wefi= ST E™ @ 7 AT

103, 350 {@TeAT (B2 R4 1 T Haa= @ 7
(A) 440 Freeq & Hi9
(B) 440TweH ¥ FW
(C) 240F 4409Teeq
(D) SHF H & HE T

21

104. RfE A vEERT g vEfa s A B

%! FaET |
A B

1. T aEHE AfE a9 ST
T T, AR §

of afEfia @ & forg

TH AT T ST T

3R 8 4 39 -

I HFAT
2 Piamm A A FA T b, TRl
FAT AR g d e (FreEie)
T
3. 0 AT H € AR T ¢ AR
FET AN W Iy

3 HAT
4. OB HI G T0  d. O7g W 01 &9
A & 91T = ¥ argefifad
TH FHET HAT
5. s ® M ey o ST G@IH
o § U1 AT E 8

e T FET
6. T W ATFHITHIEAR . FEIRIE
ST gHHT S/ 918

& TN ToeF™E HET

(A) 1-a, 2-b, 3-0, 4-d, 5-e, 6-f
(B) 1, 2-e, 3-d, 4-c, 5-b, 6-a
(C) 1-d, 2-a, 3, 4-b, 5-c, 6-e
(D) 1-b, 2-e, 3-a, 4-d, 5, 6-C



105.

106.

107.

108.

109.

110.

The instruments used to mark parallel
lines, parallel to the true edge or datum
edge is

(A) Divider

(B) Outside caliper

(C) Inside caliper

(D) Jenny caliper

Lower critical temperature of high
carbon steel while hardening is
(A) 960°C (B) 900°C
(C) 723°C (D) 560°C

Gun metal is alloy of

(A) Copper, tin, zinc

(B) Copper, lead, zinc

(C) Aluminium, zinc, nickel
(D) Copper, lead, nickel

The tapping drill size for M10 (max) is
(A) 8.2 (B) 8.5

(C) 8.3 (D) 8.4
Anutis to be made for a screw of M10x1

(max). What should be the size of drilled
hole ?

(A) 8.8 mm
(B) 9.0 mm
(C) 9.5 mm
(D) 10.0 mm

What coolant is recommended for
tapping Aluminium ?

(A) Lard oil

(B) Soda water

(C) Kerosene base oils

(D) Dry air

11

112.

113.

114,
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Drill chuck are held on the machine
spindle by means of

(A) Drift

(B) Shank

(C) Draw in bar

(D) Chuck nut

Different speeds are obtained in a
sensitive or bench drilling machine by
(A) Rack and pinion mechanism

(B) Hydraulic mechanism

(C) V-Belt pulley mechanism

(D) Cam and follower mechanism
For filling corners and the groves with
an angle more than 60° less than 90° is
(A) Knife edge

(B) Square file

(C) Round file

(D) Flat file

Match the files with depending upon
the pitch of the teeth :

File Pitch of the teeth
1. Round a. 10 teeth percm
2. Middle or b. 40 or more teeth
Coarse per cm
3. Bastard c. 16 teeth percm
4. Second cut d. 20 to 24 teeth
per cm

5. Smooth e. 12 teeth percm
6. Dead smooth f. 8teeth percm

(A) 1-b, 2-d, 3-c, 4-¢, 5-a, 6-f
(B) 1-f, 2-e, 3-d, 4-c, 5-b, 6-a
(C) 1-a, 2-b, 3-c, 4-d, 5-e, 6-f
(D) 1-, 2-a, 3-e, 4-c, 5-d, 6-b



ﬁ
105. MR AR % FHHEIR, IHHEE @i
i % & T vgea ITam ©
(A) feam=t
(B) =ITH WIYH I & ST
(C) =8 W9 I3 & sfiat
(D) it = 519 T
106. =3 T &I 1 eI o a9d =
auf T 2
(A) 960°C
(C) 723°C (D) 560°C

107. WM¥ea . Hifguag? |
(A) afer, feq, s
(B) afam, Har, st
(C) ToHtfem, s, feka
(D) wfs, dam, e
108. 2ft fgar 3R M10 (SAftrram)
(A) 8.2 (B) 8.5
(C) 8.3 (D) 8.4
109. M10x1 (3TerFa™ ) 1% ¥= U ¢ F foru
ST TR | S T w1 SRR

BHTHEIRY 2
(A) 8.8 mm
(C) 9.5 mm

(B) 900°C

(B) 9.0 mm
(D) 10.0 mm

110. TegHTIw 6t i 2g F-w viaes
Togd T Sar e 2
(A) G T e
(B) TS
(C) FU & 31
(D) %= 1]

23
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111, 739 dg W 94 9
W |
(A) fg®
(B) I
(C) BT AW
(D) IF T

112, T Haeasiie a1 o= aus uefia § o
gt g ArA RIS E |
(A) 1= 3 fafma wien
(B) EEgIfcrh Jfska
(C) V-aree fert wfskan
(D) &H I HicTET gfewan

113, 60° ¥ 7Tk 37T 90° T =W & FHI0N ITeA
FA1 i Tt o & e R
(A) il BT
(B) = for
(C) TR ferET
(D) TG forams

114, T 1 =% W meied o 1 fremu -
fores & SeTE

B TS

1. T a. 10 2q ufa o=

2. GG ATHIRT b, 401 AT €
gfe o

3. 9eE c. 16 2q ufa g+t

4. fefm=re d. 20¥ 24 <9 ufd
. yfe At

5. HEH . e 12<d

6. ITAHART  f. 87Fd Uid T

(A) 1-b, 2-d, 3-c, 4-e, 5-a, 6
(B) 1-f, 2-e, 3-d, 4-c, 5-b, 6-a
(C) 1-a, 2-b, 3-c, 4-d, 5-e, 6-f
(D) 1-, 2-a, 3-e, 4-c, 5-d, 6-b



115. The live centre is fixed to

116. Match the parts A and B in connection

7

(A) Head stock

(B) Tail stock

(C) Tool post

(D) None of the above

with lathe operation :

A
Machining operation
performed to clean the
irregularity of faces of
work pieces to obtain

a. Threading

smooth and flat surfaces

square with axis

the work piece at the
desired point after it has
been machined

3. Process of forming

horizontal or diamond
shaped serrations on
the circumference of
the work

4. Operation of making

ridge of uniform cross
section in the form of
helix formed on the
inside or outside of
a cylinder of a cone

a groove at a specified
location

6. Operation of producing

rectangular spiral
grooves on the face
of a work piece

. Operation of separating b.

C.

d.

Process of producing e.

f.

Scrolling

Parting

Knurling

Facing

Under
cutting

(A) 1-e, 2-c, 3-d, 4-a, 51, 6-b
(B) 1-a, 2-b, 3-c, 4-d, 5-e, 6-f
(C) 1, 2-a, 3-b, 4-c, 5-d, 6-¢

(D) None of above

117.

118.

119.

120.
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At what r.p.m. should a lathe be run
to give a cutting speed of 25 m/min.,
when a turning a rod of diameter 32 mm
diameter ?

(A) 250 r.p.m.
(B) 180 r.p.m.
(C) 232 r.p.m.
(D) 112 r.p.m.
The total length of a part is 14 cm. It has
tapered portion 5.5 cm long. If the larger
diameter of taper is to be 3.25 cm and
the smaller diameteris 1.875 cm, to what

angle should the guide bar of the taper
attachment be set ?

(A) 6°4
(B) 7°7
(C) 5°%'
(D) 10°4’
Calculate suitable gear trains for cutting

10 mm pitch, 3 start on a lathe with a lead
screw having 6.25 mm pitch.

(A) (60/25) x ( 80/40)

(B) (50/25) x (75/40)

(C) (85/30) x (90/50)

(D) None of the above

The included angle of the ISO metric
thread is

(A) 271-°

(B) 30°

(C) 55°

(D) 60°



115, Sffda &z FAYTRATR |
(A) BETH
(B) oW1 Wi
(C) T e
(D) 39 # & =g 7

116. @R IRATEH & Ga9 § 9F A 3R B &
e
A
1. ot % AT HATIH 3N
TrA J53 T A
% o FEEE F 71
& i aTE w5
F fo 7t ufeem
2. AYfiHIE F & T3
Fifea fog W FrfEe #1
T A Y T
3. &/ o i W
AT ATER % JAHR
% I M 1 Tl
4. UF Vg % TF qeH &
TR AT T F&cAl o ¥4
T T ST F1E FH
o wm & R
5. T fafre wm w
M Y wfE
6. T FHHES & §E T
STRIATRR Heferd T
S %1 Wl
(A) 1-e, 2-c, 3-d, 4-a, 5, 6-b

(B) 1-a, 2-b, 3-c, 4-d, 5-e, 6
(C) 1, 2-a, 3-b, 4-c, 5-d, 6-

(D) I § 8 =

B
a. 9fen

b. Ehifem

c. Trfem

d. =fefn

e. HiEm

f. IS RN

-25-
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117. 254 /e e fa 37 & fore v @
i forem =i wfe e e se g 2, s
e ZHAT S wream 32 fri R 7

(A) 250 r.p.m.
(B) 180 r.p.m.
(C) 232 r.p.m.
(D) 112 r.p.m.

118. TF G HI g s 14 Tt 2 | 35aT
AT AR 5.5 T A1 | IS qW FT S
g 3.25 Ul oft B =W 1.875 o
?, @1 TR TeAwar Y TR B R o m
Tl ¥ ? “

(A) 6°4'
(B) 7°7'
(C) 5°'
(D) 10°4’

119. 6.25 el = et vk Hen & 9 0
@ T 10 finft S5, 3 WR F1FA &
fore 3w it 3 1 o i |

(A) (60/25) x ( 80/40)
(B) (50/25) x (75/40)
(C) (85/30) x (90/50)
(D) I H & i TE

120. 1SO #fg dg %1 afdfer w2
(AY 27%°
(B) 30°
(C) 55°
(D) 60°



121.

122.

123.

124.

125.
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In pedestal grinder, polishing can be
done by replacing grinding wheel by

(A) Coarse wheel

(B) Polishing wheel

(C) Fine and Fine type wheel
(D) None of the above

What is wheel truing ?

(A) Act of restoring the cutting face of
a grinding wheel by removing the
abrasive material from the cutting
face and sides of the wheel

(B) Act of improving the cutting
action

(C) Act of hardening wheel in order to
reduce wear

(D) None of the above

What does symbol ‘E’ represent under
Nature of Bond ?

(A) Magnesia

(B) Shellac

(C) Rubber

(D) Vitrified

Accuracy or least count of a metric
outside micrometer is

(A) 0.1 mm (B) 0.01 mm
(C) 0.001 mm (D) 0.02 mm

Dial test indicator is used for checking

(A) Flatness of surfaces, parallelism of
bars and rods

(B) Depths of blind holes, slots groves
and height of shoulder

(C) Outside dimensions of jobs
(D) None of the above

126.

127.

128.

129.

130.

131.
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What is the feed rate in Diamond
machining ?

(A) 0.01 mm to 0.04 mm/rev.

(B) 0.001 mm to 0.01 mm /rev.

(C) 0.051t00.01 mm/rev.

(D) 0.025 to 0.03 mm/rev.
Which one of the following represent
the medium grade of the wheels ?

(A) TtoZ (B) Lto O

(C) Ato G (D) Qto T
The soft material particle get clogged in

the grinding wheel while grinding. This is
called

(A) Loading
(C) Truing

(B) Glazing
(D) Dressing
The face of grinding wheel becomes

shiny and smooth after some use. The
reason is

(A) Grain size is too coarse

(B) Abrasive of wheel is not suitable for
the purpose

(C) Grade of wheel is too hard
(D) Structure of the wheel is open

To clamp the work piece against the face

of the angle plate are used.
(A) Cclamp (B) Chuck
(C) Spindle (D) Vice

In a standard marking system of a
grinding wheel the nature of bond is
indicated in
(A) position 2 (B) position 4

(C) position 3 (D) position 5



121. g (Yewemr) dom , uitere fem S 0
_ avfenfe s S Sasd 2 |
(A) HIRTSH
(B) Tiferfem =
(C) WEH 3R A& TR 1 I
(D) 3TgF WA HE T

122. A @gIFe ?
o v i o
iR % e §@ I T4 I FET
(B) e T # gum
(C) T F1 7w F % for g 71
eIl

(D) 37 H A e T
123, S} % WhRI % ded Heharer ‘B F 1
AT e ?
(A) TRET
(B) ¥t
(C) ==
(D) i

124. WEH! HiX & o 0% ARE F) gdwara
AN AT §
(A) 0.1 mm (B) 0.01 mm

(C) 0.001 mm (D) 0.02 mm

125. ST e Hohas e F fee
WgF Bl g|
(A) T3 Tl GHaAdT, TSI T THHTH
BHT
(B) 74 T3 il TRUE, TH Td 3R FY
$1 Tu
(C) =t i = fawmd
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126. SEHe AN FT e e a2 2
(A) 0.01 mm ¥ 0.04 mm/rev.
(B) 0.001 mm ¥ 0.01 mm /rev.
(C) 0.053 0.01 mm/rev.
(D) 0.025# 0.03 mmi/rev.
127. Frafafea o @ S -ar afeai < geam goft
AT
(A) TR Z (B) LEO
(C) AT G (D) Q¥T
128. rad §H g T 01 e aTed =5 | S
BIVME, 9 wEdmie |
(A) =nfsT (B) TAfSmT
(C) (D) gfém
129. iR I TF &7 TR FO GHT WM F
A1E IHFER IR RF TR | FROR
(A) TH T SFHN AToF FIeT 2
(B) T T AT 39 Ie¥T o IUGET
T

(C) T FTUS AN FoN 2
(D) 5% F1gETEAT ®

130. W AVAL 6 T@ & U FAGES ] FHA
% foro TEFIE S |

(A) C & (B) &
() =it (D) aE

131. rﬂaﬁaﬁaﬁaﬁl'ﬁaﬁmﬁ% Tl #,

(D) I7dE & 1 7l

.2 7‘

Y FTIFR # 291iu ST 2|
(A) ferfa 2 B) feufa 4
(C) ferfa 3 (D) ferfa 5
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132. A grinding wheel carrying the markings

- 250X 25x 32W A46 L4 V 17. What does

this terms represents with respect to
grinding wheel in general ?

(A) Diameter, thickness, bore diameter,
grade, structure, bond, bond type,
prefix to abrasive, abrasive, grain
size

(B) Diameter, thickness, bore diameter,
prefix to abrasive, abrasive, grain
size, grade, structure, bond, bond

type

Bore diameter, grade, structure,
bond, bond type, prefix to abrasive,
abrasive, grain diameter, thickness
size

(C)

(D) None of the above

133. Forgrinding wheels with size higher than
90 cm, which one of the following
moulding process or bond is preferred ?

(A) Vitrified
(B) Silicate process
(C) Shellac process

(D) Rubber process

134. Calculate the grinding force in a surface
grinding operation using grinding wheel of
250 mm diameter, rotating at 2500 rpm.
The work piece is of mild steel having
width of 20 mm, depth of cut = 0.05 mm
and feed velocity of table = 2 mm/sec.
Assume the number of grits/mm?® = 3.
Take value of specific energy for mild
steel =1.4 J/mm?,

(A) 2.8N
(B) 35N
(C) 42N
(D) 5.6 N
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135. Surface grinding machine grinds
type of surfaces.

(A) Flat or plain
(B) Cylindrical

(C) Conical

(D) All of the above

136. Which one of the following is the most

commonly used precision grinding
machine or special purpose grinding
machine ?

(A) Surface grinders
(B) Tool-grinders

(C) Cylindrical grinders
(D) All of the above

137. Grinding with a balanced grinding wheel

will aim at

(A) Pattern of lapsable to achieve the
required accuracy

(B) Position tolerance surface finish
only

(C) Dimensional accuracy with surface
finish
(D) None of the above
138. Which one of the following factors

are not considered for the selection
of grinding wheel ?

(A) Material to be ground

(B) Stock removal and surface finish
(C) The grinding process wet or dry
(D) Feed per revolution



132.

138.

134.
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& e g = 1 A

250X 25x 32W A46 L4V 172 |

T2 g &7 8 fiod I 9% &

e H FAT SN © 2

(A) =am, e, fog s, Ie, gier, 9y,
Y TR, ATIEE ° T, AT,
M HT ATHR

(B) =9, W12, f55 5am4, 219edeE ¥ T,
ITSE, TH H AR, AL, 4,
99, AU HT IFN

(C) Bz =am, g, gi=, 94, 99 U1, |.
YT

¥ &, ST, TR F
T, HIZE HT AFR

(D) 3F | A IS -

90 ¥ .11, ¥ Iftres AR It e I
% og F=fafea 3 @ 19 @ go ufsm
T §Y 1 AT 2 STt @ 2

(A) F1fa

(B) Taferdrz wfssan
(C) SraAta gfgwan
(D) g wfHAT

& Te3 s wlisan @ diee o o e
%1 e siet fiee a1 9% &7 250 7.9
M ', 2500 qUH I ez W de @
R wEe 20&.11?.#\3#%%*;&?[
¥ TATR, FTE FHITEWE = 0.05 . 2
3R A Y amyfef fe = 2 fr . wfg dshs
2 | fire/fa .. & dEn = 3 wifv) ug
e o fore forfirse St 1 W =1.4 9@
g fi7.4.2)
(A) 2.8 N
(B) 3.5N
(C) 4.2 N
(D) 5.6 N
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135 TR e T YR E TR

Faefi 2 |

(A) TWeEe I HUTZ
(B) STHTEFR

©) vF

(D) I &t

136. F=fafga 7 8 - wits W &

U I BN el T dee wefie ar sy
Ieey g 9y 8 2

(A) T5-ie
(B) -

(C) SR =
(D) 3o et

137. W@ o aa sw s asd

TR |

(A) FTfea Gtemar a1 &t o fol saTms-
&1 U

(B) Terfer wezrar uee wwifed W
(C) I53 |wIfed & &1 Taaufia weisan
(D) I & A T

138. iR 9Tt = o M g i 1 8

FI-8 FRF W= 7= T smar 2
(A) TR IR

(B) SR TMT 3T 53 HHIfEd

(C) e 1 wisean it am gt

(D) fer =i et



139. Recessed on both side of grinding
wheel

(A) Change breaking
(B) Grind flat surface

(C) Provide clearance for both flange
and seat for wheel blotter

(D) None of the above

140. Ratchet stop in micrometer helps to
(A) control the pressure
(B) lock the spindle
(C) adjust the zero error

(D) hold the work piece

141, is a type of chuck where all the

jaws are adjusted independently.
(A) Four jaw chuck
(B) Three jaw chuck
(C) Magnetic chuck
(D) None of the above
142. Which one of the following is used

to hold the work piece for machining
diameter concentric to its hole/bore ?

(A) Mandrel
(B) Three jaw chuck
(C) Face plate

(D) Four jaw chuck
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143. The grinding machines with Resinoid
Bond type wheel operates at their highest
efficiency and economy. This wheel
Operates at a speed of approximately

(A) Between 3000 to 5000 m/min
(B) Above 5000 m/min

(C) Up to 2000 m/min

(D) Between 2000 to 3000 m/min

144. Which one is a wrong statement related

with material removal wrt to grinding ?

(A) Fine grits and softer grade is used
to grind hard materials

(B) High finish and low stock removal
uses fine grits

(C) Rapid stock removal, ordinary
finish use fines grits

(D) Soft material, uses coarses grits
and softer grade

145. Fixture is a production device which

holds
(A) Holds the work piece

(B) Holds and locate the successive
work pieces

(C) Chats the work piece
(D) Neither holds not locates the
work piece

146. Which one among the following jigs

is used for drilling holes in hollow
cylindrical components ?

(A) Plate jig
(B) Solid jig
(C) Potjig
(D) Box jig



139, HomaTet =% & aHT STt T T
(A) dreT (sif) seerar s
(B) TwWae 783 e

(C) =ie setiet & foru weist i iz s fern
Tt wem T e

(D) I | ¥ I T

140. TR | e @i e Far R
(A) g g #E & o
(B) Toiea ofe &3 & foig
(C) YA e 1 3 F1 & ferg
(D) o & F1 Tehe & forg

141. % H198 YFR & 98! G4l 992

A T GHAING B9 @ |
(A) =R STEST=F
GGEEESEE]
(C) g =
(D) ST | FE T
142, fraforfaa § 9 wH-A1 FEEs F130F

ooz % wehsh = & wefiieor & R
BATe ?

RES

(B) 91 ST 9%
(C) 7@ awadl
(D) 9N &SI 9%
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143. RS 99 YR F 9% T fo 73
IJeeIH HITCTAT I & H HW HAl ¢ | T8
= A Ffd WFEH FEATE |

(A) 3000 & 5000 i /fime % =
(B) 5000 Hi/foe @ Im

(C) 2000 Ht/fi=e 7

(D) 2000 & 3000 Tt /fFae & =

144, 5 & ¥ed | o #18H Y T UH

THd FoH FH-TTR 2

(A) wEH firem o gamm s 3R uei
%1 e & fore s gan s

(B) F=3 frfiw ot F e e d wem
frrg s v SaT e

(C) digar & 9eR g™, rawor fhfm
% e firem wgwd gl @

(D) ¥ e, Wi g 3 g I8 M
FATR

145, ToFFRT=R U Ie91eT ITF1 R ST
(A) FHEE F1 Tl
(B) it FdEs 1 yaedr 3 ™H
EGIE

(C) FHGE & 21 371 i AT
FEATR

(D) 9 A HEEE I THEdr 8 7 € =H
TR

146, AR § A PR-Tr T EEa
TR 92§ 5% F & fore v
BT 7

(A) TR T
(B) v T
(C) T
(D) ST T
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147. The slot are provided on angle plate for
(A) Accommodating bolts
(B) Hanging hooks
(C) Reducing weight
(D) Aligning the work

148. V Block supports the shaft or round bars
for milling

(A) Keyways
(B) Holes
(C) Threads
(D) Teeths

149. In British Standard System (BIS) of
limits and fits, the grade of tolerance
are represented by number, symbols

and there are

(A) 14 grades of tolerance
(B) 16 grades of tolerance
(C) 18 grades of tolerance
(D) 20 grades of tolerance

150. The maximum clearance required
between shaft of 200 mm, with limits
199.720 and a hole of nominal dia.
199.605

200 m with limit 200.000

25.072

(A) Shaft 199.720 mm dia. and hole
200.00 mm dia.

(B) Shaft 199.605 mm dia. and hole.
200. 25.072 mm dia.

(C) Shaft 199.605 mm dia. and hole
200.000 dia.

(D) None of the above
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151. Defective work piece are produced
occasionally by surface grinding
machine, what may be causes ?

(A) Incorrect dressing
(B) Coolant filter punctured
(C) Too much of grinding heat
(D) None of the above
152. Wheel wear can be reduced in
grinding by
(A) Increasing the speed
(B) Decreasing the speed
(C) Using softer wheel
(D) None of the above
153. Chatter marks are on the work piece by
grinding due to
(A) Insufficient cooling

(B) Too much of friction between the
work surface and the wheel of the
face

(C) Vibration on wheel spindle
(D) The act of restoring the cutting faces
of a wheel
154. Agrinding wheel is marked 51 A46 L5 V-B3,

what does 5 indicate ?

(A) kind of bond

(B) structure

(C) kind of abrasive

(D) grain size
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185.

156.

157.

158.

158.

In roller grinders face of the wet type
grinder is crowned slightly to minimize
the amount of contact between the wheel
and work. This reduces the possibility of

(A) Uneven thickness of metal sheet
(B) Wear of the metal sheet

(C) Heat generation

(D) None of the above

What causes the wheel glazing ?

(A) Grade of the wheel is too coarse
(B) Grade of wheel is too open

(C) Too fast speed of wheel

(D) None of the above

Pedestal grinder is also known as
(A) Bench grinder

(B) Tool grinder

(C) Portable grinder

(D) None of the above
A grinding wheel marked with “C" is
made with the abrasive

(A) Aluminium oxide

(B) Silicon carbide

(C) Diamond

(D) Corundum
At what standard temperature, slip
gauges are kept in labs ?

(A) 100°C

(B) 20°C

(C) 100°F

(D) 20°F

160.

161.

162.

163.
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A mechanical comparator for its
working depends on

(A) Accurately calibrated scale

(B) Comparison with standard such as
slip gauge

(C) Accurate micrometer gauge

(D) Optical device

A sine bar with a length of L = 200 mm
is used to check accurately the angle of
a work piece. The angle to be check is

25°, Calculate the height H of the slip
gauge.

(A) 84.5 mm

(B) 83.52 mm

(C) 81.81 mm

(D) 85.52 mm

Stock removal on diameter in the super
finishing process is from

(A) 0.05 mm to 0.075 mm

(B) 0.002 to 0.02 mm

(C) 0.02 to 0.025 mm

(D) 0.002 to 0.05 mm

For rough grinding, which one of the

following grade and wheel speed
combinations are used ?

(A) Soft grade and high wheel speed
(B) High grade and low wheel speed
(C) Soft grade and low wheel speed
(D) High grade and high wheel speed
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164. Grinding wheel is flooded with coolant
in order to

(A) Remove chips
(B) Remove heat
(C) Clean the wheel
(D) Clean the machine
165. The rim of grinder isdressedwith
dresser.
(A) Diamond
(B) Steel
(C) Abrasive
(D) Natural abrasive
166. Cast iron, Brass, Aluminium uses which
type of Abrasives ?
(A) SiC
(B) ALO,
(C) Diamond wheel

(D) None of the above

167. Preventive maintenance is

(A) The maintenance which involves
the use of sensitive instruments

(B) The maintenance generally
performed by operator himself

(C) The work carried only when
machine breakdown

(D) Plan to minimize the unforeseen
breakdown
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168. A product is said to have the quality
when

(A) lIts shape and dimensions are not
within the limit

(B) ltis fit to use
(C) It appears to be very good
(D) The choice of material is right

169. A grinding wheel is marked as

250 x 25 x 32WA46 L4V 17.
What does ‘L’ represent ?

(A) Type of abrasive grit
(B) Grade

(C) Grain size

(D) Structure

170. Which one of the following types of

wheels will machine freely soft
material ?

(A) Close structured
(B) Open structured
(C) Cross structured
(D) All of these

171. A milling cutter should have three main
properties. Which one of the following is

correct ?

(A) Hardness, toughness and
resistance to wear

(B) Hardness, brittleness and
resistance to wear

(C) Hardness, softness and
resistance to wear

(D) Hardness, flexible and resistance
to wear
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172. In milling, slitting saw or slitting cutter is
used for
~ (A) Parting off a solid
(B) Cutting keyway
(C) Producing teeth
(D) None of the above

173. Grinding wheels should be dressed

and trued regularly to work
production.

(A) Improve
(B) Reduce
(C) Loss
(D) Avoid

174. The symbol conventionally used for

resinoid bond is
(A) V
(B) R
(C) B
(D) E

175. Which type of slip gauges are used in

workshops or manufacturing shops ?

(A) Reference type and calibration
type

(B) Inspection type and workshop
type

(C) All of the above

(D) None of the above

176. Grinding is a

(A) single point cutting tool
(B) multipoint cutting tool
(C) form tool

(D) None of the above
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177. What is the maximum pressure applied
on the slip gauge during wringing ?

(A) More than 50 Kg/cm?
(B) Less than 30 Kg/cm?
(C) 50 Kg/em?
(D) 45 Kg/em?

178. What is the standard dimensions of
angle gauge ?
(A) 75 mm long x 16 mm wide
(B) 87 mm long x 20 mm wide
(C) 72 mm long x 14 mm wide
(D) None of the above

179. GO and NO GO size of 25.mm limit
snap gauge should be

(A) 24.977 mm GO and 25.002 mm
NO GO

(B) 25.002 mm GO and 24.977 mm
NO GO

(C) 24.998 mm GO and 25.023 mm
NO GO

(D) None of the above

180. Mechanical comparators have a
magnification factor greater than
(A) 10: 1
(B) 100 : 1
(C) 1000: 1
(D) 10000: 1



172. Tafem , Tafesm sm a1 warfesn Fdw
% fore we BT R |

(A) T 31 T T BT

(B) T&F T e ST

(C) T I FHET

(D) 377 & & =

173. T uftw =1 fFafia =0 @ 3fi oin
gm%gwm%qaﬁwm
|
(A) &
(B) =H
(C) =
(D) &
174, o (FeEEe) 99 % o wefe
FT W WgFd Ghd ®
(A) V
(B) R
(C) B
(D) E

175, STl 71 i gwHi 4 e wen &
e s e foee wma 2 2
(A) T T TR 3T TR
(B) Fttaror werm 3 FrfsTier v

(C) Sug Tt
(D) SugFaH A Tl

176. oo (mEfem) @ 2|
(A) TEe foig e IR
(B) gfeig e 3w
(C) ®F IqeHTTT

(D) 374 § 8 HE
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177. féﬁn%ﬂmﬁn#ﬁmwaﬁaﬂ
Aftrran g a2 2

(A) 50 Kg/cm? § 31fere
(B) 30 Kg/cm? § FH
(C) 50 Kg/em?

(D) 45 Kg/cm?

178. 9T TS 51 W fammd & 2
(A) 75 mm &1 x 16 mm FIET
(B) 87 mm T x 20 mm ST
(C) 72 mm &= X 14 mm =TT
(D) ST | & T T
179. 25 mm Tz @9 & GO 3 NO
GO IR _____ &1 =iy

(A) 24.977 mm GO 3R 25.002 mm
NO GO

(B) 25.002 mm GO 3R 24.977 mm
NO GO

(C) 24.998 mm GO 31 25.023 mm
NO GO

(D) S & HE e
180. FTHE JAMAI S Uh AREAORF
T ARFEIR |
A) 10:1
(B) 100 : 1
(C) 1000 : 1
(D) 10000 : 1



181. Low resolution devices for
measurement of length have a
resolution of the order of

(A) 25% 10"°* mm
(B) 0.25 mm
(C) 25 x 105 mm

(D) None of the above

182. The groves are provided on the lapping

plate for

(A) Preventing distortion of the plate
(B) Retaining lapping paste

(C) Reducing friction

(D) Collects the metal chip

183. In honing process, the movement of

the Hone is

(A) Rotating and reciprocating
(B) Reciprocating

(C) Vertical

(D) Horizontal and reciprocating

184. The accuracy of common bevel
protractor is degree.
(A) one

(B) three

(C) two

(D) four

185. When the faces of the anvil and the

spindle touch each other if the zero of
the sleeve scale coincides with zero of
the thimble scale, then it is said to be

(A) negative error
(B) positive error
(C) no error

(D) zero error
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186. Aluminium oxide (Al,0,) is manufactured
by fusing

(A) Silica sand, common salt,
petroleum coke, saw dust

(B) ALO,, Si,0,, titanium oxide
(C) All of the above
(D) None of the above
187. Interchange ability is normally applied
for
(A) Repairing the parts
(B) Mass production
(C) Single piece production
(D) All of these
188. The three classes of fits as per BIS
system are

(A) Clearance fit, Interference fit,
Transition fit

(B) Medium fit, Push fit and Tight fit

(C) Flat fit, Round fit, Square fit

(D) Sliding fit, Loose fit, Shrinkage fit
189. Which type of grinding wheel is used to

sharpen the milling cutter ?

(A) Universal type grinder

(B) Roller grinder

(C) Diamond grinder

(D) None of the above



181. w18 & 19 & o iy fasiem suso
10 fsem FFIFEATL |
(A) 25 x 10 mm

(B) 0.25 mm
(C) 25 x 105 mm

(D) 3T # A FE T
182 Afmavaiimad _ ¥qfuam? |
- (A) Tl ferp T ¥
(B) =t st gefer T T
(C) HUI BeH &
(D) g fora vl FE B
183. TH TTg™ 6 ufFa (Sifi 9w) #, Tm
(EF) A
(A) TOff TR =FerHl

(B) sgehH
(C) IR

(D) &fcst 3TR gehtl
184. TIHTE UG 101 H1S ol Frehal
I
(A) T
(B) &=
() &
(D) =
185. v T 37 ot ¥ WE uF g H A 2

T2 wefia T =1 ¥ Rree THH S I
g Eare, A FEdE |

(A) SHUTIeHe fe
(B) #TeHH 3
(C) FR T
(D) YA 3R
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186. UFgfufam sifFEREs (ALO,) Eo
Haom @ Riffa g 2 |

(A) Tafer @, a0, Y2iforam
T, GO

(B) ALO, Si,0,, ZEFam TR

(C) Iwia © & T+t \

(D) U | A F T

187. SAat fafima Fmran amraa: sl
AR |
(A) Tt it o
(B) BN I
(C) Ushel T 3IcqTeH
(D) & Tt

188. BIS JUIiett & STFET 39gFad =1 di
Srfor &
(A) Feiw IR, e ST,
SRR ITIFAAT
(B) WEIW IUFFd, G IUgEA,
FHEG IugFAaT
(C) Tt ITFAT, el Iugerar, =i
IqgFdl
(D) Toheer IugaadT, Siefl Iugdddr,
Torspre SugFaa
189, TaferT wrex &t um o= = & fou fen
= FTH H-F1 TE6R T el e ?
(A) T JoFT o1 TEST
(B) VIR
(C) 2HHE TEX
(D) g & & % e



190. The surface joining the crest and the root
of a thread is known as

(A) Flank
(B) Shank
(C) Pitch surface
(D) All of the above
191. Length standards in the form of blocks

or bars, with two faces or ends which are
defined distance apart are called

(A) End standards
(B) Line standards
(C) Comparators
(D) Gauges

192. The function of feed rod in the lathe is

(A) To convert the rotary motion into
linear motion of the tool

(B) To convert the rotary motion into
circular motion of tool

(C) To convert the rotary motion into
circular motion of the tail stock

(D) None of the above
193. What is the purpose of using

recirculating ball screw nut mechanism
in CNC machine ?

(A) To reduce the setup time
(B) For higher surface finish
(C) For carrying out up milling

(D) To remove backlash

-42-

194.

195.

196.

197.

198.

A
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NC machining centers do not include
operations like
(A) Milling
(B) Boring
(C) Welding
(D) Tapping
Which of the following is not the
advantages of NC machines ?
(A) Higher flexibility
(B) Improved quality
(C) Reduced scrap rate
(D) Improved strength of the
component (material properties)
In how many ways, NC motion control
system can be classified ?
(A) 2 (B) 3
(C) 4 (D) 5

Point-to-point system is used for

(A) Drilling

(B) Parting

(C) Grooving

(D) Facing

In part programming, interpolation is
used for obtaining trajectory.

(A) Helical

(B) Pentagonal

(C) Triangular (D) Zigzag




190. TH 1g % ¥ 3R H&A = A ATl T3
FEAT® |
(A) FIF
(B) ¥
(€) fmT=
(D) Iwg#a # | |+t
191. TT IPET B & &9 § AR HHH
AqE AR F-[E; __ FEam e |
(A) 3Id THS
(B) W& HHF
(C) Fare
(D) TS
192. TR H MYt B FTFH B

(A) IO 31 5T T %1 tRaes TTfd |
HEET

(B) SYETUI T EU i 1 AR A |
T

(C) o= T21 %l {U T I FeATRR TTH
T gl
(D) STF H & HE
193. CNC Wi # T:af=em 5 B i
TR T A S T 3T R 2
(A) TE3T THY FZHT
(B) ==t T3 e =g
(C) 31 ffem & & forg
(D) wicEna gem = forg
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194. NC Hefiiao &g & £
e iE =R |

(A) fafem (B) =T
(C) afeen (D) 2
195. F=fofea 7 @ = -a1 .. aefA =1
aAME e ?
(A) I A ATH
(B) Se U
(C) =2 T FaH X
(D) w2 (ver = ferreemd) < sEe
LEEul

196. frem ot 4, v, (NC) e Pz
gt =Rt Fffera fofe s waT 2 ¢

(A) 2 (B) 3
(C) 4 (D) 5

197. figam yomeft % fore sgFa Erefi @ |

(A) fgfem
(B) wifén

(C)
(D) Hfam

198, UTE TWNART H, 3M@asH _ JEI Y
IO # % o, g €l 2 |
(A) Fefera
(B) d==iig
() i
(D) e




199. Match the following CNC Auxiliary
functions, implemented by a programmable

logic controller in the MCU.

1.

A
Coolant
control

B

a. Discrete numerical
data (possible
values limited to no.
of parts than can
be produced
in a given time
period, such as a
shift)

Tool changer b. On/Off output

and tool
storage unit
Fixture
clamping
device

Emergency
warning

Robot for
part loading/
unioading
Counters

from MCU to
pump

c. Discrete
numerical data
(possible values
limited to capacity
of tool storage
unit)

d. Interlock to

sequence or stop
loading and

unloading
operation

e. On/Off input
to MCU from
sensor

f. On/Off output
from MCU to
clamp actuator

(A) 1-a, 2-b, 3-c, 4-d, 5-¢, 6
(B) 1-d, 2-e, 3-a, 4-b, 5-, 6
(C) 1-b, 2-c, 3, 4-¢, 5-d, 6-a
(D) 1, 2-e, 3-d, 4-a, 5-b, 6-C
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A
1. Profile milling a.
2. Pocket b.
milling
3. Lettering C.

4. Contour d.
tuming

5. Facing e.
(turmning)

6. Threading f.

200. Match the NC Module type with Automnatic
programming of machining cycles.

Generates tool
path for a series
of threading
cuts

Generates tool
path to engrave
alphanumeric
characters

Generates tool
path for a series
of facing cuts

Generates

the tool path

to machine a
cavity
Generates tool
path for a series
of turning cuts
to provide a
defined contour

Generates
cutter path
around the
periphery of a
part

(A) 1-a, 2-b, 3-c, 4-d, 5-e, 6-f
(B) 1-b, 2, 3-d, 4-e, 5-a, 6-Cc
(C) 14, 2-d, 3-b, 4-e, 5-c, 6-a
(D) 1, 2-e, 3-d, 4-c, 5-b, 6-a



199. f=ferfaa CNC we= wrl =1 fiesy,
ST fF MCU ¥ & wurm s am s

-45-

T FEfET Fu e
A
1. Yiaess FEIw a.
2. 3T IREdE b.
3R ITET
SN THE
3. Tt Faiferm ¢
ITEHT
4. IUCHEAHE  d
JqEHt
5. @S/ e
IS &+
o T
6. FE f
(A) 1-a, 2-b, 3-c, 4-d
(B) 1-d, 2-e, 3-a, 4-b
(C) 1-b, 2-c, 3, 4-e,
(D) 1-, 2-e, 3-d, 4-a,

|

B
i T
IiwS (Ffaa
7= fewmy
grEf g
e & seqifea
BH 9T 9T 6l
T ¥ Hifta
B 8)
MCU & 99 7
374 /3%
Siecle
AR THTHF
w2 (Twifaa
T IUE
TSRO 3T
a9
Hifta g 8)

i = st

T IT AT

3 SFEten
TR VST

. TaeE ¥

MCU &
31 /3T TYE

. MCU & ¥

U T
3 / 3T T3

, 5-e, 6-f

~C, 6-f
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A

1. WHEA
afewm

2. Hide
foyfem

a.

200. HYfTERTT =eh1 o T=Terd: TRITH o
Y T Hiesd YR # emsu)

gfén w12 i gaer
B YT T SHET

TR PFH
Iehifha & & o

IR 9 ST

R e i gEen
% o I O
AT

U Gige ! SE §H

% foru Iuasr Oy
THHET

s fAfeaa aftn
ITeTsY HH o forg
T e &1 gaern
% ToTe 39etr 9
AT

U 9T &) gt
F TR 3N Fdh ™
TTHT

(A) 1-a, 2-b, 3-c, 4-d, 5-¢, 6-f
(B) 1-b, 2-f, 3-d, 4-e, 5-a, 6-C
(C) 14, 2-d, 3-b, 4-e, 5-c, 6-a
(D) 1-f, 2-e, 3-d, 4-c, 5-b, 6-a
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Iefigami & fore wewgut sew

13. This booklet contains 48 pages.

14. Directions . Each question or incomplete

15.

17.

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each qguestion. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

T
| Wrorg Method || Wrang Methad || Wrong Method || Correct Method

lo@co|0600/0©00/0000

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet,

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

186.

17.

18.

19.

38 yferst § 48 U 21
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Go through instructions given in Page No. 1 (Facing Page)




